Reading Comprehension

A Circle the correct answer.

Detail 1. What did Darwin learn?

a. Sundews can move to catch insects.
b. Sundews can finish eating an insect in one day.
¢. Sundew tentacles all move at the same speed.

Vocabulary 2. In this drawing from the diary, the plant's “tentacles” are _/‘
a.a b.b c.C

Inference 3. How many whole insects did Darwin find on the 12 plants?
a. fewer than 31 b. 31 ¢. more than 31

Prediction 4. On the next page of the diary, we can probably read “[There was) e
a. nofly b. a dead fly ¢. a living fly



